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QUESTION 1

In which document would you fnd informaton regarding issues encountered with sofware revisions?
A. VCE Vblock Administraton Guide

B. VCE Release Certfcaton Matrix

C. VCE Release Notes

D. VCE Logical Build Guide

Correct Answer: C

QUESTION 2

You are on deployment, and must enable the SSH service on an ESXi host. In the vSphere client GUI under
Confguraton, which submenu do you use to complete this task?

A. security profle

B. authentcaton services

C. advanced setngs

D. system resource allocaton

Correct Answer: A

QUESTION 3

In a standard Vblock System 300 confguraton with two VHBAS, the VNX Storage Processor A (SP-A) has
rebooted.

How will the hosts be impacted?

A. Both vHBASs will lose a single path to all storage devices on that VNX.

B. A single vHBA will lose all paths to some of the storage devices on that VNX.

C. A single vHBA will lose all paths to all storage devices on that VNX.

D. Both vHBAs will lose a single path for some of the storage devices on that VNX.

Correct Answer: A

QUESTION 4
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Which VNX drive type should be used for ESXi boot LUNs?
A. largest available NL-SAS

B. largest available SAS

C. smallest available SAS

D. smallest available EFD

Correct Answer: C

QUESTION 5

In a Vblock 320 Unifed Networking environment, a UCS service profle is unable to locate its boot device. Which two
statements are valid troubleshootng steps? (Choose two.)

A. Verify that the targets in the SAN boot policy match the zoning and the masking on the array.

B. Verify that the vHBAS are logging into the SAN fabrics by examining the Fabric Login (FLOGI) database on the Cisco
MDS switches.

C. Verify that PowerPathVE can see all paths to the device.

D. Verify that the vHBAs are logging into the SAN fabrics by examining the Fabric Login (FLOGI) database on the Cisco
Nexus 5000 series switches.

Correct Answer: AD
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